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General Knowledge

1.

3.

4.

8.

6.

Who was the first chief minister of Punjab?

A. S, Partap Singh Kairon B. Shri Bhim Sen Sachar
‘_CAF Gopi Chand Bhargava D. S. Lachhman Singh Gill
g T ufgsT g H3St 3 A?
A . Y3 fify 33 B. H 3tH AG ATS
c. 3. Inft S FIdI= D. A. BexT fHy U8

Which one of the following Indian freedom fighters killed General Michael O'Dwyer in

Britj)iV
<~ Udham Singh B. Bhagat Singh

C. Chandra Shekhar Azad D. Ashfaqulla Khan
HIT AT

A. G A B. I3 friw
C. OTd AYS W< D. WHSIR H'S
Which amongst the following Sikh Guru built the Akal Takht Sahib at Amritsar?
A. Guru Nank Dev Ji yru Ram Das Ji
C. Guru Arjan Dev Ji ~Guru Hargobind Sahib Ji
feget & fag? fify g & WifEHa fed wars 393 wiiod & GFrdt i3t I
A TG &0 T Al B. JIg IHTH I
C. I wIAG TS A D. I JSdifde A" =
What is the name of the memorial built by the Punjab Government at Kartarpur
-~ Jang-e-Azadi Memorial B. Virasat-e-Khalsa

C. Punjab State War Heroes D. Vadda Ghallughara Memorial
Memorial and museum
e Aoag 28 g93ayg (Uare) fod serdt it Trears € off e 97

A. FIT-E-wrE WEdrg B. fegrAz-2-uI&HA"
c. e Aee T9 Jiod WHiamE D. ¥F WgUT HHIMS
w3 HETMH
‘National Sports Day' is celebrated on whichWe following dates in India?
A. July 29" —August 29"
C. September 29" D. October 29"
93 &5 ‘THedt §3 foen a% Harfowr AT 37
A 29 TBE S B. 29 WAH3 §
C. 29 AF=EI & D. 29 wWaIEI §
In which year India won the first Olympic Gold Medal in Hockey?
A. 1925 1928
C. 1235 D. 1942

DOE-C 3 of 20




FI= & Telt fE9 ufge G3fua iz A3s fan 7rs ffawr /e

A. 1925 B. 1928
C. 1935 D. 1942

¥ ‘Thomas Cup’ is associated with which one of the following sports?
A. Hockey B. Lawn Tennis

C. Football \D~Badminton

"BHR JY' I3 T 93T 55 faR 78 gfawr Sfewr 37

A. It B. @™ 2foH
C. goT® D. g3Hea
8. The Battle of Plassey was fought in which year?
A 1748 5T
C. 1764 D. 1782
YBTH Tf 838 {IH AT FIT I8 A7
A. 1748 B. 1757
C. 1764 D. 1782
g. Which one of the following countries do not share land boundary with India?
A. Bhutan B. Bangladesh
C. Nepal ~"Tajikistan
A. 3T B. HI@TH
C. dUsB D. SHTSIAIS
10. ‘Jim Corbett National Park’ is located in which state of India?
A. Himachal Pradesh @/ﬁfarakhand
C. Madya Pradesh D. Jharkhand
‘T Iogc &7es Use’ 393 © fan gF g Afez 37
A. ToHT8 Yyor B. €394
C. HOySH D. 943

MENTAL ABILITY/ LOGICAL REASONING

11. What would be the value of the following expression?
1 1 1 1 1
—e e =] (1 ———=2)(1 ——
) (1 3) (1 4) (1 5) il 99)( 1{}0)
= D. 5
Jo' €3 Turg T HE &t J=9r?
(- (1-2) -0
3 4 5) 1( 5‘5)( ]00)
A = B. —
25 50
£ D 2
T 100 " 99
12, 280 apples are distrusted to a group of 50 girls and boys in such a way that each boy

gets 7 apples and each girl gets 5 apples. How many boys are there in the group?
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13

14.

18.

16.

15 B. 25
C. 35 D. 45
280W§sogﬁwwméﬂtﬂﬁaéﬁwmé?ﬁa€m§7ﬁs

w?aaga?ésﬁamla'@uféaﬁ?sﬂ?aa?

A. 15 B. 25

G, 35 D. 45
The average weight of three persons A, B, and C is 45 kg. If the average weight of A
and B is 40 kg and average weight of Band C is 34 kg, then what would be the weight
of B?

. Sokg D5k
fes fong ot A, B W2 C & WHZ I9 45 IS I AT A 3 B T WA 9 40
%r@qmémée?ce*m@aau\%«mjafséﬁaﬁrm?

A 15 I8 B. 2298

c. 26 fa® D. 13fa8

If a train moves with a speed of 30 km/hr for 12 minutes and for next 8 minutes it moves
at a speed-of 45 km/hr, then what would be the average speed of the train?
736 km/hr B. 37.5 km/hr
C. 42 km/hr D. 45 km/hr
Jag a5 Juaidt 12 Hie B8 30 FARiET yF ver & 5EIT 5T vBT I

WA 8 et B 3ET 45 fadhied yFt uer € 9839 &8 T5T 3, 3 SuaE o
WA ST fdat J=ai?

A 36 fa3teg/uer B 37.5 fadHteg wer
C. 42 faSieg e D. 45 fagieg e
What would be the H.C.F of the numbers 52— g 21—3 ;% ?
160 160
2 81
;gﬂ;m t @ Y.C.F o J&ar?
160 160
A. = B o
2 81
C. - D. =

If two numbers are in the ratio 5 : 7 and their L.C.M. is 315 , then what would be the
product of these two numbers?

A. 2835 B. 2538

€. 2385 D. 2358

A5 © At 5 . 7 wigus fY 96 W3 8I& T L.CM. 315 3, 3 QI Afemret
T JEaas ot Jedm?

\_A-2835 B. 2538

C. 2385 D. 2358
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18.

18,

20.

21.

Radhika spent Rs. 44668 on her air tickets, Rs. 56732 on buying gifts for the family
members and has 22% of the total amount as cash with her. How much money she
has in total?

A. Rs.1,28,600 /Rs. 1,30,000
C. Rs.1,01,000 D. Rs.1,33,800
e & gt Jeret fedet 3 QUB LL668, UTeg @ oo 88 Jo2 uses 3

JUE 56732 HJU 13 W3 I8 IIH T 22% GF 3T wae Hl OF 35 I &S I
A
A. JU¥ 128,600 B. JU¥ 1,30,000

C. gug 1,01,000 D. gu¥ 1,33,800

Ram sold a Pen to Sham at 20% gain and Sham sold it to Karan at a loss of 10% If
Karan bought the Pen for Rs.216, then at what price did Ram purchased it?
ARs 200 B. Rs 216
C. Rs 250 D. Rs 228
TH S B T 7H § 20% 79 RS Mo w3 51 & forg 10% 2 wre ¥ 595 & 2fown
Had 396 & U6 § 216 quE €5 uatfenr, 3T IH S R fgn Sz '3 wdifonr 2

A. Rs 200 B. Rs 216
C. Rs 250 D. Rs 228
If one-third of four- seventh of a number is 80%of 60, then what would be that number?

A. 3 B. 175
uzﬁ?zj D. 412
rag foan Aftmr T T9-A3E © 8" f3od 07 60 T 80% 3. 37 9 Bty o J297?

A. 120 B. 175

C. 252 D. 412
If Raju and Babu can do a piece of work in 12 days; Babu and Kalu can do the same
work in 15 days whereas Kalu and Raju can do the same work in 20 days, then in how
many days Raju alone can do the said work?

A, 16-days B. 24 days
\%gays D. 40 days
AdS Ig W3 5 12 fos' 98 i @1 39 AoR g5, g w3 a8 R W § 15
feat &8 33 7R I%, 7= fa arg w2 org fem a9 & 20 fost o o9 e O, 5
A. 16 fes B. 24 fes
C. 30fes D. 40 fea

Rajender is the brother of Jitender. Geeta is the sister of Harender. Jitender is son of
Geeta. How is Rajender related to Geeta?

A. Brather R. Father

M D. Nephew
Aag Ireg, AfFEs v 39 I 3z, ofdes @ 3= 3 Afdeg, iz e ysa 1 3
gfriTs T 3" &% S 7"y 37

A I B. fuzr
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22,

23,

24.

25,

c. Uy3g D. 331

Choose the correct alternative amongst the following choices that will continue the
same pattern and replace the question mark (?) in the series
4,8,28,80,244 7
A. 278 B. 328
C. 628 0778

f8a (7) & Hap 3 W JF<am?

4,8,28,80,244, 7
A. 278 B. 328
C. 628 n. 728
In a certain Code language “HONGX" is coded as "BIHAR". Following the same rule
of coding, what would be the word for the Code HN VAXO?
A. BACHELOR ~BHOJPURI
C. BOARDING D. BRIGHTER
e wH a7 I 29 *HONGX" § “BIHAR” T Fer 31 fdar € @R fornd <t urse age

38, IF HNUPVAXO SEF 3 HET J=d7?
A. BACHELOR B. BHOJPURI
C. BOARDING D. BRIGHTER
In the following number series one term is wrong. Find out the wrong term?
15, 28 45, 64, 85,116,147
A. 45 =85
C. 116 D. 147

I5 fsy Suat o B 5T g 499 9183 31 183 59 T U3 HArg?

15, 28 45, 64, 85,116,147
A. 45 B. 85
C. 116 D. 147
What would be the value of the following expression?
(724 + 62)% + (724 — 62)?
(724 x 724) + (62 x 62)

A. 1 =2
E. 3 D 4
Jsm fif2 =uiag ©F HE ot J=ar?

(724 + 62)% + (724 — 62)°
(724 x 724) + (62 x 62)
A1 B. 2
& 3 D. 4
Answer Q No.26-28 based on following statement:
A, B, C, D, E, F, G, and H are sitting around a circle facing the centre, not necessarily
in this order. F is third to the right of C and is second to the left of H. D is not an
immediate neighbour of C or H. E is on the immediate right of A, who is second to the
right of G.

It i3 aEs @ g 3 AES =9 26-28 T €33 fE6:
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26.

28.

28.

30.

A,B,C,D,EF G W3 HEd3 € deg & Arans g gn @ ewd S5 IT I8, Agat
S A GH T I FCE AT YR SAT I WS HS ¥ I gn 59 3 857 I

D, CH" H T arelel IMel ol JIE AT III AR YR I, ARG AR uUA T 3

Who sits between G and D?
A H B.
e F D.

G W3 D feggs &t 857 37

A H B.
C. F D.
Who is secend to the left of C?
Men B. B
s E D. D
ce¥a I g e 85T I?
A A B. B
C. E D. D

Which one of the following pairs of persons has first person sitting to the right of second
person?

A. CB ng/%E,
C. FG DB
Jo' &3 fanaShit 2 Afat 138 gz ufgs fawa3t en fena3t € AR UA S
g7
A. CB B. AE
C. F& D. DB
Radha moves towards South-East a distance of 7 km, then she moves towards the West
and travels a distance of 14 km. From here she moves towards North-\West a distance of
7 km and finally she moves a distance of 4 km towards east. How far is she now from the
starting point?
A 3 B. 4
S0 D. 11

g SxE-ygds 28 7 fadics o8Tl 3, feg 89 UeH 28 Ael I i3 1u fadhiies
€ gat 3w g5t J1 fod 89 €35-Us =5 7 S3iicy ga<r 3 w3 iz Ko &g

yIs T8 4 fadicd T8e! J1 g= 89 ggwst i 3 et g I7

A. 3 B. 4

C. 10 D. 11
The tank-full petrol in Arun’s motor-cycle lasts for 10 days. If he starts using 25% more
every day, then how many days will the tank-full petrol last?

A 5 B. 6

C. 7 D8
wgE T Heg Araas 9 29 3fonr Uegs 10 foa 39 Sfde 31 799 69 377
25% fomier 293 79 &< féer 3, 37 29-ygr 038 4 fes 88am

A. 5 B. 6
. & D. 8

D
E

D
=
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COMPUTER PROFICIENCY

31.  How many layers are there in OSI model? -
A. 2 layers 77 layers

C. 4 layers D. §layers
0S| 3% &g &M 3ngr J67
A. 2 BWMIA B. 7 3WJA
C. 4 BwgA D. 9 3nIA
32, What is the full form of ' HTTP'?
~"Hypertext Transfer Protocol B. Hyper Transfer Text Package
C. HyperText Transfer Package D. Hyper Transfer Text Practice
HTTP' T Ygr gu &t 37
A. TEUSETAC THES YodB B. TENIS TTHEI SIAC Uad
C. TESETAE ST tan D. IS THEd SIAC YafcH
33. Wha\t;e&a—full form of ‘MAC?
~"Media Access Control B. Media Access Carriage
C. Mass Access Control D. None of these
‘MAC' & U gu ot I7?
A. I AR I8 B. HiZh WaiH aa
C. HA wehAA 438 D. fogs &5 I &t
34, Which one of the following layers is responsibiw translation?
A. Network : ~ Presentation
C. Datalink D. Application
I farim Bnwgr 23 fagdt ang 327 waee B8 flieg J7
A, STTIH B. yACHG
c. T8 D. "uBldHS
35. Which on the following layers is not there in TCP/IP?
<~ Session layer B. Transport layer
C. Application layer D. Network layer
I fodht Snigm 8T fagst Tep/IP &g &t 372
A. RHASG 3T B. Z'AUIC 3
C. MuIBEHS 3vg D. dcead 3vg

36. Which one of the following is not a ‘Network Topology'?
A. Star B. B
C. Ring \_D./glezr o Peer

Jo ferdni 55 faodt g ‘Seega SUSH! adf 37

A. ASS B. €A
c. faar D. g 3 Umg
37. What is the full form of USB? \,B/
A. Unlimited Service Band ~ Universal Serial Bus
C. Unlimited Serial Bus D. Universal Service Bus
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38.

39.

40.

41,

42.

43.

USB T ygT gy ot 37
A. WEfEHET AR =73 B. HAITSHES HISME =H
C. WElBHIZ HigMS =H D. FolTIng AIfeH €A

Which one of the following commands is used to identify TCP/IP errors, such as

connection problems? \_B/
A. FTP ~ Ping

C. POP3 D. SMTP
TCP/IP Wad fAs f& gadas Mmifwe’, & Ugs 996 B8 J& S aHi3
33 foodt g a3 & =93 Jist et 97
A. FTP B. Ping
C. POP3 D. SMTP
Which of following is not a computer input device?
< Printer B. Mouse
C. Keyboard Bl pr Stick
J& e (99 fags dfuges fesue fa=dA &dt J7
A. fijeg B. HGH
C. =gz D. A% Afex
Which on the following protocols is used for sending emails?
~SMTP B. HITP
C. FTP D. Outlook Express
g% 3T Bd Jo' i3 Ylasn K5 faoz fa yeas safzmr Aer 37
A. SMTP B. HT TR
C. FTP D. Outlook Express

How many function keys are there in a keyboard?
A. 15 B. 14
c. 13 D12

i stagg &g fdami’ s Sig gemi I8 7

A. 15 B. 14
C.. 13 A
Which one of the following can be used to send same email to different email-IDs?
A. Macros \_B./mﬁpr\‘ﬂerge
C. Template D. None of the above

awmmgﬁammww@ﬁémﬁa@mww
Al 97

A. AEIH B. W& HaH

C. 2Hyde D. fogo &5 3t &t
Which of the following is the default file extension for MS word-2007 file?

A. .doc B. .word

C.~docx B,
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a4,

45.

46.

47.

48.

49.

shinly 293-2007 o8® o=@t Ja &3 59 fauz Fose ods wandHs 397
A. .doc B. .word

C. .docx D. .txt
What is the shortcut of replacing a word/character in MS word?

A Ctrl+r B. Cirl+p
Mrhh D. Ctrl+s
=93 T foR Aae /e § foudR T Fracac &t J7

A. Ctrl +r B. Ctrl + p

C. Ctrl + h B. Ctrl +'s
Which function key is used for Spell and Grammar check in MS word?

A F B. F8
=l o D. F12

whiA 293 &g mifdar w3 fowggs 7o &8 faodt Sars ot 2331 Al 97

A. F5 B. F8

G BT D. Fl2
What is the shortcut of ‘Align Center’ in MS word?

A G B. Ctrl+]

~Ctrl + e D. Ctrl+k

A 293 &5 WETHs Aeg’ T Agcde af 97

A Cirl + ¢ B. Ctrl + j

C. Ctrl + e D. Ctrl + k
Which of following is an example of Page Orientation?

7 Portrait B. Legal

C. Superscript D. Letter
Jot 53 &7 fagzr O Gamiens ©f 6vaas 37

A. Ugede B. BAS

C. AUIAfQUS D. 829
In MS excel, single element in a worksheet is known as?

A. Column \B/cﬁ'

C. Row D. Page
WA WeHs Y, fife egarle &g e wietie & ot faar Aer J7

A. TSH B. A

c. 3 D. UH

Which one of the following functions can be used to count number of cells having

nurr‘wjzic/vaLues?
~ Count() B. Countn()

C. Counta() D. Countnum()
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50.

i

52.

53

54,

55.

A IHE 1t 2@ A% O I3t 996 38 I 23 dane €9 faaz i

=330 77 e 97

A. Count() B. Countn()

C. Counta() D. Countnum()
Which one of the following can be used to join the selected cells?

ypw B. Pivot
” Merge D. Wrap

ge 3 A% & 7Fs o9 I €2 5 far £x & =32 i3 7 Aew 37

A. AfEs B. fire
C. Ho™ D. Y
Which one of the following is used to start a formula in MS excel?
A 3 =
C. # . ®

Wﬂmﬁg@mﬁ@m@%w%&dwﬁawﬁw
e 97

A3 B. =
c. # D. =

Which of one the following formulas is not written correctly?
A. =57 B. =sum(A1:A9)
C. =B4+AS :

Jo fafem &5 fagg g Troye Al 291 &8 odi (B famr 37
A. =57 B. =sum(A1:A9)
C. =BL+A9 D. 4+9

Which menuhas the “Conditional Formatting” option in MS Excel?
A_~Home B. Formulas

. Insert D. View

Wt WaRg 89 fag3 Wi &5 'dFHas eenfdar feasu 37
A A B. SIHZH
C. féaAge D. €@

Which menu has the “Filter” option in MS Excel?

A. Home B. File
M D. View
wWarg g faa3 Hig e 'feges” fessu J7

A M B, THEE

¢ e D. fe€
Which one of the following is not part of 'MS Office suite’?

A. Word B. Powerpoint
C. Access ‘D/Mé;r
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56

57.

58.

99.

60.

61.

Jo' i3 &5 faox ﬁa‘*q){*ﬂ'ﬂ“{’fﬁﬂﬁ?e*ﬁ'ﬁ*?ﬁé?

A. T3 B. y=gufdic
C. WaHA D. Aag
Which one_of the following is not a ‘web browser'?
~HTML B. Firefox
C. Safari D. Edge
fege” R9 fogz ffx ‘T8 g8+ &1 37
A. WG S AH NS B. grfusean
C. ASIr D. W
Who amongst the following is called the father of Computer?
A. Bill Gates B. Douglas Engelbart
C_~Charles Babbage D. Ada Lovelace
Jo' fE2 5 fam § dfuges T fuzr fagr Aier J7
A. &5 den B. IUIBH WIISHIT
C. I'I5H gad D. W3 ITBH
What is th Il form of ‘CSV'?
\ A" Comma Separated Values B. Cursor Separated Values
C. Comma Separated Variables D. Cursor Separated Variables
AR & T yg guE J?
A I AuSfed 28T B. I9AT AUSfea T
C. IH AuSfeg e gsH D. IIAI AUSfcF I eTSH

Which one of the following is the shortcut to insert new slide in presentation?
A. Ctrl +n Lg./gﬂ# q
C. Ctrl+o ~—Ctrl + m

It &3 5 JAens &8 oS Az UweE © Facac o J7

A. Ctrl + n B. Ctrl + q

C. Crl +o D. Ctrl + m
Which k n the keyboard can be used to view Slide show?

CAC F5 5 F10

C. F1 B, E2
AHF ¥ oyE o9 Au9gz O fag3) Si(key) I3 AT AGT I7

A. F5 B. F10

C.. Fi B, Ei2
What is the Binary equivalent of Decimal Number 457

A. 110011 B. 100101

C. 100110 D.~101101
TAHBE At 45 T SHiadl 5978d ot 97

A. 11001 B. 100101

C. 100110 D. 101101
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62.

63.

B4.

65.

66.

67.

68.

Which one of the following is not an email service provider?

A. Yahoo B. Rediff
- Facebook D. Google
foges 25 faoz g thiw Aefer Jerfess odl 37
A. Tg B. 3fde
C. SAgd D. I91&
What\t;th/eshortcut in windows operating system to print a notepad document?
G+ B. Ctrl +r
C. Windows +p D. Windows +r
fie ez Trzed fijc 996 38 3w Susfar famey &8 Aracse &t 37
A. Ctrl +p B: Glrl &1
C. Windows + p D. Windows + r
Which one of the following helps persons with disability to operate the Computer?
A. Settings B. Fonts
C. Display \%gessibility
frgest i faggr fia wargr fanash § dfiges sege K9 Hee g9vr 37
A. Aféar B. ac
c. fFrud D. WRAESS!
Which one of the following has a tree like view of folders and files?
~“Windows Explorer B. Controi Panel
C. Start Menu D. My Computer
Jo' &3 3 fom fifla T Iz3a w3 TEi’ € 3 & feg e J7
A. fE3m nagmudas B. d2I8 UaE
C. ATSC HiIg D. AT (My) Hfuges
In windows ating system, deleted files/folders go to?
\ﬁﬁggjgle Bin B. Cycle Bin
C. Dust Bin D. Dump
f&3w GUafeqr famey £, fadle IS eEist/283d 8 AT I&57
A. SAEEs 55 B. AEES @
C. IAC fE5 D. FY

Which one of the following is the Windows cloud storage service?

A G e Drive B. Win Cloud
~One Drive D. Win Drive

Jo i£3 5 fagat s 37 I888 AcSH Aafen J?

A. QI8 3TEE B. fe5 5& 83

C. 5 I D. fe5 398
Which key is used to display and hide the start menu in Widows 0S?

A) Windows Key +d B) Wi sKey +p

C) Windows Key + | D) indows Key
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69.

71,

7.

73

74.

fe3w § WA €9 Aege Hig & feuge w3 garge o fagdl di(key) T931 el

37
A fegmdt +d B. fe39 &t +p
c. fegadt+1 D. fega st
Program in execution is called as: \_9/
A. Command " Process
C. Instruction D. Task

NfEETS &g YererH & off faar Aer 97
A. SHF B. JAA

C. fErAcams D. 2RI
Whic\Whe following is not harmful for a computer?
~ Firewall B. Trojan horse
C. Virus D. Malware
foge’ &9 faoz & dfuges 8 gdterad adf 37
A Tfeges B. I JIA
C. =fegn D. H&=aMJ
An ‘error’ is also known as
A. Debug B. Cursor
~Bug D. Bin
g ‘Wag’ Ja ot fagr AT I?
A. FEar B. IIAT
C. =d1 D. &%
Who invented the QWERTY layout of keyboard?
\~&" Christopher Sholes B. August Dvorak
€. William Norris D. George Stibitz
FE93 © QWERTY Bwie & 837 A & 1317
A. fgades AsA B. WATHS IS
c. feshmm &far D. TId AciEcH

Which topology requires a central controller or hub?

yeeh B. Bus
- Star D. Ring

fom 2UBH B8t dTdt degsg o IF € 37 el 37

A. AH B. €A
C. A9 D. fdar
Which one of the following can store maximum amount of data?
A. Floppy Disk B. Compact Disk
C. Pen Drive M’Q Disk
It 83 &9 fage g 37 & <9 3 <0 W39 § AT 99 AT J7
A. gzt fFAA ‘ B. duac farx
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Cc. U5 398 D. I93 A

75. Which one of following is a language for creating web page?
TML B. FITP
; HTIE D. FTP
29 09 gv0c B8 I 73 &9 faadt ffd 77 (language) I7
A. HTML B. FTTP
E. HTTR D. FTP
76. Which one of the following is not a search engine?
A. Bing B. Goo
C. Gibiru D.Mindows
frgst &5 fagzr fix un frs ot 7
A BT B. I
c. fafag D. &3%
77. Which one of the following is the correct email format?
A. abc@psou@edu B. abc.psou.edu
- abc@psou.edu D. abc@psou#edu
Jor &3 e wret, 3t &5 faozr fia 8 widl, 3. grane Adl J7
A. abc@psou@edu B. abc.psou.edu
C. abc@psou.edu D. abc@psou#edu
78. Which one of the following is the correct descending crder of the units of memory?
A. TB>MB > GB > KB B. MB>GB>TB > KB
CTB > GB > MB > KB D. GB>MB >KB>TB
I3 fea &5 fagz a AR € feare & Ad weer o 7
A. TB>MB>GB>KB B. MB>GB>TB>KB
C. TB>GB=>MB=>KB D. GB>MB>KB>TB
79. In which year the first E-mail was sent? \/
A. 1967 ~ 1971
C. 1983 D. 1991
YIgsT §1-A% fIA A7 3HT 38t Ar?
A. 1967 B. 1971
C. 1983 D. 1991
80.  Which one of the following is called the main directory of a computer?
A. Folder B. Sub Directory
C. Network ~Root Directory
A SBIS B. AY Ifegdacat
C. dcead D. ge Ifedsgedt
PUNJABI
g1 fagz mue gg = faadt ot 37
A AT V{HTUH'%
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82.

83.

84.

85.

86.

87.

88.

89.

90.

C. UA D. &3

A. 58 B. 99
C. YA e

fra2 A=, forss 09 S € Wy 7 fids 39 233 7, €3 § fagF aw alde
I&?
A. SA3 TOI &< B. WH &=

Tt fzdt &g &ar € farest &8t 32
A. A3 B. W&

\,%’ﬂ D. 3

fA e &8 891 & 89t I=, 8A § &t IfJE T&7?

A =IT @/Ua?

G B D. fenf s
waeEHe3S ___ T § YT TS
A. JEUEE B. J€ & UgE

fSg3™ A9< 'A9g © AHGIE &1 o ?

_)./S‘br B. H3Y

C. 9d D. A3AC
IIF g3 =i Afgg 31 819 AET © &< ©F faAd ER7
A. WTH &' B. fods oo &' f&a

VCA’FF??E D. SA3 949 &'<

HI WS ygdl yo=d et g I ?
A. A3 fifer gz T 5" \B/IE_I‘B'HTEQB'EW
c. fa 78 MY BB T D. §g3 frimrer 88c %
g9 eg Ut 3 & famm faggr =9 37

yﬁ}as@a B. gz @

C. Aga3 T D. I T
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ENGLISH

g1.

92,

93.

94.

g5.

96.

7.

Fill in the blanks with the correct form of tense:

After he his wife at the airport, he back home.
A. saw off; came B. seen off; came
\C/%Lseen off; came D. had seen off, comes

Select the correct synonym of the underlined word:
Please do not interfere with my work.

\A/@dle B. Help

C. Copy D. Object
Select the correct sentence:

A. He had fined for coming late B. He were fined for coming late

C. He have fined for coming late Was fined for coming late
Fill in the blank with the correct preposition

The thief jumped the wall and escaped.
A. into w
C. against D. on

The correct antonym of artificial is:
A. solid B. truthful
C ~fatural D. fake

Choose the correct adjective.

The thing of all was that his so\r:;w/srude tc him.
A. bad ~ worst

C. baddest D. worse

What is the meaning of the underlined phrase:

You have to raise your voice a little when talking to him. He's a little hard of hearing.

A. stubborn B. quiet when he speaks

C. distracted \Wf

Directions (Q No. 98-100)
Read the following paragraph and answer the following questions:

Androcles, the slave of the king, was ordered to fight with a huge lion that had been
kept hungry for two days. He was sure the lion would tear him to pieces. So, he was
sad to be back. A large crowd of people had come to see the fight. The lion was let
loose into the arena where Androcles had been made to enter. The beast came roaring
aloud out of its cage looking fiercely. As the lion neared him people got excited to see
the bloody drama. But suddenly the lion stopped roaring and became calm. Instead of
attacking Androcles he crouched at his feet and began to lick hands. Tears of joy
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welled up in Androcles’ eyes and he embraced the lion. It was the same lion with whom
Androcles had lived in den for many days.

98. What was Androcles ordered to do?

A. to fight with the other slave B. to fight with a minister

~To fight with a huge and hungry D. to fight with an elephant
lion
99. What did the lion do?
\ﬁ/gegan to lick his hands B. killed the minister

C. fought with Androcles D. killed Androcles
100. What is the meaning of 'embraced’?

A. killed B. smiled

C. hold D Algged
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